
Lattice Multiplication (A)
Use lattice multiplication to find each product.
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Lattice Multiplication (A) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (B)
Use lattice multiplication to find each product.
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Lattice Multiplication (B) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (C)
Use lattice multiplication to find each product.
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Lattice Multiplication (C) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (D)
Use lattice multiplication to find each product.
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Lattice Multiplication (D) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (E)
Use lattice multiplication to find each product.

0

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

8 0 2

2

4

5

802×245 = 196,490

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

7 1 3

6

8

1

713×681 = 485,553

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

3 9 7

9

7

8

397×978 = 388,266

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

1 3 7

1

5

5

137×155 = 21,235

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

6 1 3

3

3

9

613×339 = 207,807

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

2 9 2

2

2

5

292×225 = 65,700

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

9 4 4

5

2

2

944×522 = 492,768

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

8 3 8

4

1

3

838×413 = 346,094

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

2 3 6

4

2

2

236×422 = 99,592

Math-Drills.com



Lattice Multiplication (E) Answers
Use lattice multiplication to find each product.

0

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

8 0 2

2

4

5

6
1

2
3

0
4

0
0

0
0

0
0

4
0

8
0

0
1

1

9

6
4 9 0

802×245 = 196,490

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

7 1 3

6

8

1

2
4

6
5

7
0

6
0

8
0

1
0

8
1

4
2

3
0

4

8

5
5 5 3

713×681 = 485,553

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

3 9 7

9

7

8

7
2

1
2

4
2

1
8

3
6

2
7

3
6

9
4

6
5

3

8

8
2 6 6

397×978 = 388,266

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

1 3 7

1

5

5

1
0

5
0

5
0

3
0

5
1

5
1

7
0

5
3

5
3

0

2

1
2 3 5

137×155 = 21,235

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

6 1 3

3

3

9

8
1

8
1

4
5

3
0

3
0

9
0

9
0

9
0

7
2

2

0

7
8 0 7

613×339 = 207,807

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

2 9 2

2

2

5

4
0

4
0

0
1

8
1

8
1

5
4

4
0

4
0

0
1

0

6

5
7 0 0

292×225 = 65,700

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

9 4 4

5

2

2

5
4

8
1

8
1

0
2

8
0

8
0

0
2

8
0

8
0

4

9

2
7 6 8

944×522 = 492,768

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

8 3 8

4

1

3

2
3

8
0

4
2

2
1

3
0

9
0

2
3

8
0

4
2

3

4

6
0 9 4

838×413 = 346,094

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

2 3 6

4

2

2

8
0

4
0

4
0

2
1

6
0

6
0

4
2

2
1

2
1

0

9

9
5 9 2

236×422 = 99,592

Math-Drills.com



Lattice Multiplication (F)
Use lattice multiplication to find each product.
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Lattice Multiplication (F) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (G)
Use lattice multiplication to find each product.
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Lattice Multiplication (G) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (H)
Use lattice multiplication to find each product.
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Lattice Multiplication (H) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (I)
Use lattice multiplication to find each product.
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Lattice Multiplication (I) Answers
Use lattice multiplication to find each product.
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Lattice Multiplication (J)
Use lattice multiplication to find each product.
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Lattice Multiplication (J) Answers
Use lattice multiplication to find each product.
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